

Name: _____

Date: _____

Hour: _____

Sequencing: Solving Systems of Equations by Elimination (Multiplication)

Put in order the given steps used to solve the system.

$$2x + y = 5$$

$$3x - 3y = 3$$

Show	Step
$\begin{array}{r} 2x + y = 5 \\ 3x - 3y = 3 \end{array}$	Line up the x and y terms
$\begin{array}{r} 3(2x + y = 5) \\ 3x - 3y = 3 \end{array}$	Multiply $2x + y = 5$ by 3
$\begin{array}{r} 6x + 3y = 15 \\ 3x - 3y = 3 \\ + \hline 9x + 0y = 18 \end{array}$	Add the two equations together
$\begin{array}{r} \frac{9}{9}x = \frac{18}{9} \\ x = 2 \end{array}$	Divide by 9
$\begin{array}{r} 2(2) + y = 5 \\ 4 + y = 5 \\ y = 5 - 4 \\ y = 1 \end{array}$	Plug in 2 for x and solve for y
$\begin{array}{ll} 2x + y = 5 & 3x - 3y = 3 \\ 2(2) + (1) = 5 & 3(2) - 3(1) = 3 \\ 4 + 1 = 5 & 6 - 3 = 3 \\ 5 = 5 & 3 = 3 \end{array}$ <p style="text-align: center;">(2,1)</p>	Check your answer

Name: _____

Date: _____

Hour: _____

Sequencing: Solving Systems of Equations by Elimination (Multiplication)

Put in order the given steps used to solve the system.

$$2x + y = 5$$

$$3x - 3y = 3$$

Show	Step										
$2x + y = 5$ $3x - 3y = 3$											
$3(2x + y = 5)$ $3x - 3y = 3$											
$6x + 3y = 15$ $3x - 3y = 3$ $+ \underline{\hspace{2cm}}$ $9x + 0y = 18$											
$\frac{9}{9}x = \frac{18}{9}$ $x = 2$											
$2(2) + y = 5$ $4 + y = 5$ $y = 5 - 4$ $y = 1$											
<table style="width: 100%; border: none;"> <tr> <td style="width: 50%; padding: 5px;">$2x + y = 5$</td> <td style="width: 50%; padding: 5px;">$3x - 3y = 3$</td> </tr> <tr> <td style="padding: 5px;">$2(2) + (1) = 5$</td> <td style="padding: 5px;">$3(2) - 3(1) = 3$</td> </tr> <tr> <td style="padding: 5px;">$4 + 1 = 5$</td> <td style="padding: 5px;">$6 - 3 = 3$</td> </tr> <tr> <td style="padding: 5px;">$5 = 5$</td> <td style="padding: 5px;">$3 = 3$</td> </tr> <tr> <td style="text-align: center; padding: 10px;">$(2,1)$</td> <td></td> </tr> </table>	$2x + y = 5$	$3x - 3y = 3$	$2(2) + (1) = 5$	$3(2) - 3(1) = 3$	$4 + 1 = 5$	$6 - 3 = 3$	$5 = 5$	$3 = 3$	$(2,1)$		
$2x + y = 5$	$3x - 3y = 3$										
$2(2) + (1) = 5$	$3(2) - 3(1) = 3$										
$4 + 1 = 5$	$6 - 3 = 3$										
$5 = 5$	$3 = 3$										
$(2,1)$											

Multiply $2x + y = 5$ by 3	Divide by 9
Check your answer	Line up the x and y terms
Add the two equations together	Plug in 2 for x and solve for y

Name: _____

Date: _____

Hour: _____

Sequencing: Solving Systems of Equations by Elimination (Multiplication)

Put in order the given steps used to solve the system.

$$2x + 3y = -3$$

$$5x + 10y = 10$$

Show	Step
$\begin{array}{r} 2x + 3y = -3 \\ 5x + 10y = 10 \end{array}$	Line up the x and y terms
$\begin{array}{r} -5(2x + 3y = -3) \\ 2(5x + 10y = 10) \end{array}$	Multiply $2x + 3y = -3$ by -5 and $5x + 10y = 10$ by 2
$\begin{array}{r} -10x - 15y = 15 \\ 10x + 20y = 20 \\ + \hline 0x + 5y = 35 \end{array}$	Add the two equations together
$\begin{array}{r} \frac{5}{5}y = \frac{35}{5} \\ y = 7 \end{array}$	Divide by 5
$\begin{array}{r} 2x + 3y = -3 \\ 2x + 3(7) = -3 \\ 2x + 21 = -3 \\ 2x = -24 \\ x = -12 \end{array}$	Plug in 7 for y and solve for x
$\begin{array}{r l} 2x + 3y = -3 & 5x + 10y = 10 \\ 2(-12) + 3(7) = -3 & 5(-12) + 10(7) = 10 \\ -24 + 21 = -3 & -60 + 70 = 10 \\ -3 = -3 & 10 = 10 \end{array}$ <p style="text-align: center;">(-12,7)</p>	Check your answer

Name: _____

Date: _____

Hour: _____

Sequencing: Solving Systems of Equations by Elimination (Multiplication)

Put in order the given steps used to solve the system.

$$2x + 3y = -3$$

$$5x + 10y = 10$$

Show	Step
	Line up the x and y terms
	Multiply $2x + 3y = -3$ by -5 and $5x + 10y = 10$ by 2
	Add the two equations together
	Divide by 5
	Plug in 7 for y and solve for x
	Check your answer

$\frac{5}{5}y = \frac{35}{5}$ $y = 7$	$2x + 3y = -3$ $2x + 3(7) = -3$ $2x + 21 = -3$ $2x = -24$ $x = -12$
$2x + 3y = -3$ $5x + 10y = 10$	$2x + 3y = -3$ $2(-12) + 3(7) = -3$ $-24 + 21 = -3$ $-3 = -3$ <div style="display: inline-block; vertical-align: middle; margin-left: 20px;"> $5x + 10y = 10$ $5(-12) + 10(7) = 10$ $-60 + 70 = 10$ $10 = 10$ </div> $(-12, 7)$
$-10x - 15y = 15$ $10x + 20y = 20$ $+ \underline{\hspace{2cm}}$ $0x + 5y = 35$	$-5(2x + 3y = -3)$ $2(5x + 10y = 10)$

Name: _____

Date: _____

Hour: _____

Sequencing: Solving Systems of Equations by Elimination (Multiplication)

Put in order the given steps used to solve the system.

$$4x + 3y = -1$$

$$6x + 4y = 1$$

Show	Step
$4x + 3y = -1$ $6x + 4y = 1$	Line up the x and y terms
$4(4x + 3y = -1)$ $-3(6x + 4y = 1)$	Multiply $4x + 3y = -1$ by 4 and $6x + 4y = 1$ by -3
$16x + 12y = -4$ $-18x - 12y = -3$ $+ \underline{\hspace{2cm}}$ $-2x + 0y = -7$	Add the two equations together
$\frac{-2}{-2}x = \frac{-7}{-2}$ $x = \frac{7}{2}$	Divide by -2
$6\left(\frac{7}{2}\right) + 4y = 1$ $\frac{42}{2} + 4y = 1$ $21 + 4y = 1$ $4y = -20$ $y = -5$	Plug in $\frac{7}{2}$ for x and solve for y
$4\left(\frac{7}{2}\right) + 3(-5) = -1$ $\frac{28}{2} - 15 = -1$ $14 - 15 = -1$ $-1 = -1$ $6\left(\frac{7}{2}\right) + 4(-5) = 1$ $\frac{42}{2} - 20 = -1$ $21 - 20 = 1$ $1 = 1$ $\left(\frac{7}{2}, -5\right)$	Check your answer

Name: _____

Date: _____

Hour: _____

Sequencing: Solving Systems of Equations by Elimination (Multiplication)

Put in order the given steps used to solve the system.

$$4x + 3y = -1$$

$$6x + 4y = 1$$

Show	Step

$\begin{array}{r} 16x + 12y = -4 \\ -18x - 12y = -3 \\ + \hline -2x + 0y = -7 \end{array}$	Divide by -2
Add the two equations together	$\begin{aligned} 6\left(\frac{7}{2}\right) + 4y &= 1 \\ \frac{42}{2} + 4y &= 1 \\ 21 + 4y &= 1 \\ 4y &= -20 \\ y &= -5 \end{aligned}$
Plug in $\frac{7}{2}$ for x and solve for y	$\begin{aligned} 4x + 3y &= -1 \\ 6x + 4y &= 1 \end{aligned}$
$\begin{aligned} 4(4x + 3y = -1) \\ -3(6x + 4y = 1) \end{aligned}$	Check your answer
Line up the x and y terms	$\begin{array}{r} 4\left(\frac{7}{2}\right) + 3(-5) = -1 \\ \frac{28}{2} - 15 = -1 \\ 14 - 15 = -1 \\ -1 = -1 \end{array} \qquad \begin{array}{r} 6\left(\frac{7}{2}\right) + 4(-5) = 1 \\ \frac{42}{2} - 20 = -1 \\ 21 - 20 = 1 \\ 1 = 1 \end{array}$ $\left(\frac{7}{2}, -5\right)$
$\begin{aligned} \frac{-2}{-2}x &= \frac{-7}{-2} \\ x &= \frac{7}{2} \end{aligned}$	Multiply $4x + 3y = -1$ by 4 and $6x + 4y = 1$ by -3